
 

 

DEFENSIVE AND COMPETITIVE BIDDING  LEADS AND SIGNALS  W B F CONVENTION CARD 

OVERCALLS (Style: Responses: 1 / 2  Level; Reopening) OPENING LEADS STYLE  

Normal 7-17 HCP APP. Good suit if weak hand normally in 2.) 

Cuebid response is app 10+ with fit, 2nt is fit after 1level oc. 

JUMP support is weak with ekstra support 
 

 Lead In Partner’s Suit CATEGORY:  Green 

 Suit 2.4 2.4 NCBO: Denmark 

 NT Attitude Attitude PLAYERS:   Jan Sejr Nicolajsen – Søren Christiansen 

 Subseq 2.4 thru Declarer 2.4 thru Declarer EVENT WM Herning 2025 Senior 

 Other:Lavinthal,   

   

1NT OVERCALL (2nd/4th Live; Responses; Reopening) LEADS SYSTEM SUMMARY 

15-18 with 1nt system on Lead Vs. Suit Vs. NT 

 Ace AKx AKx GENERAL APPROACH AND STYLE 

 King KQ or AK doubleton KQ (14)15-17. 5M or 6m or 4441 poss. 

 Queen QJ or Qx QJ or AQJ 1C 2way (12-14 BAL no 5card M or 11-21 4+C UNBAL) 

 Jack J10 or KJ10 or Jx  1D 4+D UNBAL (11-21) 

JUMP OVERCALLS (Style; Responses; Unusual NT)  10 109 or H109 or 10x  1M 5+ (11-21). 2C ART  FG,  1NT 5-11(12) maybe 5-7 3M 

Premptive 9  9x or 98xx or 9xx 2D/H FG 5+Cards 

2NT is Unusual Hi-X Odd number Not a good suit 2C 18-19 Bal 22+ UNBAL or Bal 24+ FG 

2D 4-7 Multi or 20-21 BAL 
 

 Lo-X even number Good suit  

Reopen:  good opening hand with a 6+cards SIGNALS IN ORDER OF PRIORITY 2NT 22-23 BAL 

DIRECT & JUMP CUE BIDS (Style; Response; Reopen)  Partner’s Lead Declarer’s Lead Discarding SPECIAL BIDS THAT MAY REQUIRE DEFENSE 

1m-2m 5+5+MM. 2NT ASK invit+. (3C min, 3M longest 3D even) 1 Low = ENC Low = Even if import) Low = ENC 1C -1D/H TRF (NOTE1) 

1M-2M 5+5+ OM m. 2Nt ask for minor  Invit+ (Paralle if maxl) Suit 2 Low = even  Low = Even 1C- 1S 6+ 5+D or 5+C or BAL no major (NOTE1) 

1,2,3m-4m=5+5+ MM 3    1C- 1NT 4+C invit+ (NOTE1) 

1C-2C 2D asking for longest and bid after is invitational 1    1D-2D+ Weak jump 

VS. NT (vs. Strong/Weak; Reopening;PH) NT 2    1m-2m 6-9 

DBL is strong (penalty suggestion) 3     

2C = MM. 2D ASK for longest and then bid is invitational Signals (including Trumps): Smith Peters (High ENCnon leader) 1M- 2NT,3C,3D support 

2D= One major minimum hand Smith Peters (high ENC) against NT 1M- 1NT 5-11(12). 2C Gazilli-like (NOTE5) 

2M= constructive natural  2D 4-7 Multi (5card suit possible) or 20-21 BAL (NOTE3) 

2NT= strong one m or FG 2-suiter. 3m is premptive DOUBLES  

  

VS.PREEMTS (Doubles; Cue-bids; Jumps; NT Bids) TAKEOUT DOUBLES (Style; Responses; Reopening)  

Leaping Michaels if Jump Normal 11+ HCP fit to unbid suit if minimum  

 Reopeneing 7+ HCP  

 Responses normal with cuebid Forcing to support have been given or 2nt  

VS. ARTIFICIAL STRONG OPENINGS- i.e. 1 or 2  SPECIAL FORCING PASS SEQUENCES 

Dbl is MM SPECIAL, ARTIFICIAL & COMPETITIVE DBLS/RDLS 1x-intervention pass=weak or penalty 

Nt is mm Many If FG-situation pass is stronger than double. 

 Most dbl in partscore level is T/O  

OVER OPPONENTS’ TAKEOUT DOUBLE Dbl is often penalty after partners premmpts IMPORTANT NOTES 

1M dbl we play OSTOT (TRF from 1nt) NOTE5)  4.suit is FG 

   

  PSYCHICS: rare but possible. 3.hand openings maybe weak 
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DESCRIPTION RESPONSES SUBSEQUENT ACTION 
COMPETITIVE & PASSED 

HAND BIDDING 

1 v 2 4H 12-14 bal no5M 5C/D possible 2C 6-9 5C, 1D/H TRF 1S is diamonds or clubs or 

bal no M. Weak jumps. 

(1C-1D)-1H = 12-14 2-3H,2H is 4H 12-15 

1nt is C unbal 3H) 12-15, (1C-1nt) 2D bal 

After 3 level intervention we play 

transfers through 3S. (NOTE4) 

    11-21 4+C UNBAL 1nt is invit+ 4+C (1C-1H)1nt= 3H unbal, 1S=12-14 bal 2-3S 4C/D is strong with H/S 

1  4 4H 4+D unbal 1nt is 4+C invit+, 2nt FG D, 3C invit+ D, Weak 

jump (NOTE2) 

1D-1M TRF from 1nt After 3 level intervention we play 

transfer through 3S 

       

1  5 4D 11-21 5+H  2S WJS, 2H=8-10(11) 3H, Splinter/Void 1M-1NT-2C=12-14 6M or many 16+ Pas-1M-2C I Toronto rev.   

     1M-1NT 5-11(12) maybe3M 5-7, 3M 6-9 4M 1S-1nt-2nt+ is 5-5 hands inv+ OSTOT after dbl 

1  5 4D  1M2nt/3C/3D Fit and 13+,,10-12 , 7-9 4M.  1H-1ut-2S is 5+5+m invit+. 1M-2C (NOTE5) 1NT(def. NT system) all OPEN: 

INT   3S (14)15-17 2C=Stayman Smolen, 2D/H=TRF never OM TRF-Accept-3oM SI M, TRF -break 2NT/3M 2nt+ is TRF 

     3C id SI m 3D ask 5M. M is 4oM COG 1NT- Dbl is COMP in 2+suit, or4M FG 

2 v 0 4S 18-19 or 24+ Bal or 2D normal, suit to play if 18-19, 2nt mm. 2C-2D – 2H is H or 24 BAL 2S ask then DBL values pass negative  

    22+ any UNBAL  2nt is 24+BAL Second negatix. Pas don’t want 18-19 BAL to bid 

2 v 0  Multi 4-7 HCP 2/3H/S is P/C, 3S FG, 4C ask suit(TRF), 4D bid sui (2D-2NT) 3C max then 3D ask OM 2nt ASK, DBL is PEN 

    5carM possible 2nt is ASK, 4M to play   

2  (5)6  8-11 normally 6 cards 2nt =Invit+ fit, suit is F1. (2M-2nt) 3C min tthen 3M is NF DBLis PEN, but invit if 3level. 

       New suit F1 

2  (5)6  same same  2M-dbl  trf from 2nt thru 3M-1 

        

2NT   4H 22-23 BAL no 5M normal Stayman, Smolen 3D/H TRF no OM, 3S=4+4+mm TRF accept is FIT (3+). TRF-accep DBL is values, Pass no values 

        

3  6  Same for alle 3-openings Suit id F1, 3D maybe ART   

3  6  Normal PRE 2-3-4 rule app New siuit is F1   

3  6      

3  6  3. position no rules    

        

3NT    3. or 4. Hand to play    

        

4  7  Normal 2-3-4 rule     

4  7      

4  6  Normal     

4  6  Maybe strong 3. position    

4NT v   6+6+mm no rule    

5  7  2-3-4 rule  HIGH LEVEL BIDDING 

5  7  3.position no rule  RKCB 1430, Voidwood 14/30, splinter void, Cuebids  

5  7    RTRF in normal situations 

5  7    Last Train 
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Note1      After Opening 1C 

 1C 1D 

 1H = 12-14 Bal no 4 H 

 1S is 5+C, 4S 

 1nt = 5+C 3H 

 2H = 4H minimum hand  

 

 1C 1H 

 1S = 4H, 5+C minimum 

 1nt = 12-14 BAL no 4S 

 2S = 4s minimum hand 

 

 1C 1S = 3-way. Diamonds or mm or I want nt on your hand. Only 4M poss. if D and FG. 

 1nt = 12-14 bal or 4414 minimum.  Now 2D is Stayman FG, 2H mm FG and 2S D FG 

2C is TRF and followed by 2H or 2S weaker version 

than above ie invitational 

 2C = 5+C 12-15 unbal  2D I Stayman other is nat  

  

1C 1NT 

2C = min with C and unbal.  Now 2D asking for short suit (void if jump) 

   Nt is short in D 

   Other is natural, 3C invit 

2D = 12-14 bal 

Other is FG nat with Clubs.    

 

 

1C 2D,2H,2S is WJS with 4-8 HCP appr. 

1C 2NT is invitational want to be declarer in nt. 
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NOTE2. After Opening 1D 

 

1D  1nt 

2C is minimum with 2+C 2D ART FG 

  2M is natural FG 

  2NT invitational  

  3C invitational 5+C 

  3D,H,S is splinter long Clubs 

 

1D  2C is NF 6-9(10)HP 

 

 

1D  2nt 4+D and a SI aking for range and shortsuit 

 

1D  3C is 4+D inv+. Asking for Range and stopper M 

  

 

NOTE 3 

2D= 4-7 Multi maybe 5 cards nv) or 20-21 BAL 

  2H/S = P/C.  

2nt BAL system on 

  2nt = ASK 

3C is MAX   3D Ask for OM 

   3M is pass correct 

3red is minimum transfer 

 

3nt is BAL, 3nt system on 

  3m = constructive but NF 

  3M = MY suit constructive but NF 

NOTE4 After intervention 1C 

1C DBL system on. RDBL is trying for PENALTY 

1C 1D dbl = 4+H. Later S-bid FG 
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  1H=4+S. Later H-bid FG 

  1S is TRF to 1NT if 12-14 bal. Could be up to invitational with 5+C 

  1NT/2NT/3NT nat 

  2C = MM up to invitationa NF 

  2D= C and FG 

  2M=WJS 

  3C is weak 5-8 6C 

  3S=TRF 3nt 

1C 1H DBL=4+S 

  1S = TRF 1nt if 12-14. Maybe up to invitational with 5+C 

  1-2-3 NT= NAT 

  2C= 4+C, 3+D 6-9 

  2D= 10+ 5+D 

  2H = 5+C FG 

  2S = WJS 

  3C= 5-8 6C 

  3S= TRF 3NT 

1C 1sp DBL = 4+H  

  1/2/3ut NAT 

  5+C,3+D up to invitational 

  2D/H=  5+cards 10+HCP 

  2S is FG with 5+ C 

  3C is 5-8 6+C 

  3S = TRF 3NT 

   

Note 5 After Intervention 1D 

1D DBL.  RDBL= 10+ HCP 5+C or trying for PENALTY.  

1NT NAT rest system on. 

1D 1H DBL= 4+S  

  1S= C and 2+D. Partner choses a contract with minimum hand 

  1NT,2NT,3NT NAT 

  2D 6-9 3+D 
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  2H = fit D 10+HCP 

  2S = WJS 

  3D is PREMPTIVE 

  3H = TRF 3NT 

1D 1S dbl = 4+H 

  1/2/3 NT NAT 

  2C/H = 5+ suit 10+HCP 

  2D = 6-9 3D 

  2S= 10+ fit D 

  3S = TRF 3NT 

1D 2C DBL = fit D 6-9 hcp or 4M 10+HCP or 4e4+4+MM GF 

  2D is 4+4+MM up to Invitational NF 

  2M = 5+suit 10+HCP. Followed by other major FG 5+4+ FG 

  3C is invit+ fit diamonds 

  3S is TRF 3NT 

After intervention 1nt 

1x 1NT dbl = PENALTY 

  2C is MM 

  2D is one Major nonconstructive 

  2M is 5+ cards constructive 

  2NT is mm or GF twosuiter 

  3m is natural  

5: Opening 1Major 

 1M 1NT 5-11 3M 5-7 possible. 

 Gazilli   

2C is min with 6M or many 15+ hands 

 2D is Nat minimum, 2H after 1S is nat minimum 

 2M is 5+M4+C minimum 

 2S after 1H is 5+H,5+m inv+ and 2 nt ask m and strength 

 2nt after 1H is 18-19 Bal after 1H 

 3m is 4m GF after 1H 

 3S after 1H is 6H,5S GF. Parallel cuebids. 
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 3H,3nt,4m is GF with hearts 

 2nt-3D is 5+5+ transfer invit+ after 1S 

 3H,3S,3nt,4m is GF with spades 

 1H 1nt 

 2C 2D is 8+ many hands 

  2H,3C,3D is 5-7 

  2S is 5,4mm  6-11 or 5+,5+ mm 5-7 

  2nt is 5+5+mm 8-11 

 1S 1nt 

 2C 2D is 8+ many hands 

  2H,S,3C,3D is 5-7 

  2nt is 6-11 5+5+mm 

1M 2C Art 2+C GF 0-3M,0-4OM, 0-4D 

2D= 5+4MM 

2H=6M 

2S= 5M,0-1OM minimum hand 

2nt:15+Bal or 55MM (after 1S) 

3m Nat 

3M 7 cards 

3OM 5044 

3nt 65MM 

Lots of relays from responder 

 1M 2D 5+D 

2M 6Cards or 5+5+MC 

2OM 4oM any strength 

2nt is BAL or 3+D minimum 

Others are 15 + NAT 

1S 2H 5+H GF 

Answers like 1M-  2D 

Intervention after opening 1M 

 

 1M dbl transfer from 1nt thru2M-1 
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